
AC-137 1 P.T.O.  

Seat No. :  _______________ 
  

AC-137 
April-2015 

M.A., Sem.-IV 

ECO-507 : Economics 

(Application of Research Methods in Economics) 

 
 

Time :  3 Hours]  [Max. Marks : 70 

 

1. ÍÛ×ÉÛÛéµÛ¶Û …é¤øÅÛé ÉÛä× ? ›ä÷þùÛ ›ä÷þùÛ ¸ÛóïõÛÁõ¶ÛÛ ÍÛ×ÉÛÛéµÛ¶ÛÛé ïéõ¤øÅÛÛ ™öé ? ÍÛ¾Û›ÛÈÛÛé. 14 
    …¬ÛÈÛÛ 

 ›ä÷þùà ›ä÷þùà Ü¶ÛþùÉÛÙ¶Û¶Ûà ¸Û±ùÜ©Û…Ûé ©Ûé¶ÛÛ …¬ÛÙ ÍÛÛ¬Ûé ÍÛ¾Û›ÛÈÛÛé.  

 

2. ÜÈÛïõÅÛ¶Û¶ÛÛ Ü¶ÛýÛ¾ÛÛé ŠþùÛÐüÁõ¨Û ÍÛÜÐü©Û ÍÛ¾Û›ÛÈÛÛé. 14 

    …¬ÛÈÛÛ 

 (…) ›Ûé ÍÛà¾ÛÛ¶©Û ”Û˜ÛÙ ÜÈÛµÛéýÛ MC = 100 – 10 x + 
x

2

10
 ÐüÛéýÛ …¶Ûé ÜÍ¬ÛÁõ ”Û˜ÛÙ ` 500 ÐüÛéýÛ ©ÛÛé             

ïäõÅÛ ”Û˜ÛÙ ©Û¬ÛÛ ÍÛÁéõÁõÛÉÛ ”Û˜ÛÙ ÉÛÛéµÛÛé. 

 (¼Û) ›Ûé Q = 10P–1 ¾ÛÛ×•Û ÜÈÛµÛéýÛ ÐüÛéýÛ, šýÛÛ× Q = ¾ÛÛ×•Û, P = Ýïõ¾Û©Û ™öé šýÛÛÁéõ Ýïõ¾Û©Û P = 10 ÐüÛéýÛ 
©ýÛÛÁéõ ¾ÛÛ×•Û¶Ûà ¾ÛäÅýÛ ÍÛÛ¸Ûé“Û©ÛÛ ÉÛÛéµÛÛé. 

 

3. (…) ‘t’ ÜÈÛ©ÛÁõ¨Û¶ÛÛ •Ûä̈ ÛµÛ¾ÛÛë …¶Ûé Š¸ÛýÛÛé•ÛÛé ÅÛ”ÛÛé. 7 

 (¼Û) …éïõ ©ÛÁõº …¶Ûé ¼Ûé ©ÛÁõº ¸ÛÜÁõ“Û¨Û Š¸ÛÁõ ¶ÛÛêµÛ ÅÛ”ÛÛé.õ 7 

    …¬ÛÈÛÛ 

 (…) Chi-square ¸ÛÜÁõ“Û¨Û …¶Ûé F ¸ÛÜÁõ“Û¨Û¶ÛÛ •Ûä̈ ÛµÛ¾ÛÛë …¶Ûé Š¸ÛýÛÛé•ÛÛé ›÷̈ ÛÛÈÛÛé. 

 (¼Û) ¸ÛóïõÛÁõ I …¶Ûé ¸ÛóïõÛÁõ II ½ÛæÅÛ ÍÛ¾Û›ÛÈÛÛé. 

 

4. ÜÈÛ˜ÛÁõ¨Û ¸Ûè¬¬ÛïõÁõ¨Û …é¤øÅÛé ÉÛä× ? Ü³ù¾ÛÛ•Ûâ ÜÈÛ˜ÛÁõ¨Û …¶Ûé ÜªÛ¾ÛÛ•Ûâ ¸Ûè¬¬ÛïõÁõ¨Û ¸Û±ùÜ©Û ÍÛÜÈÛÍ©ÛÛÁõ ÍÛ¾Û›ÛÈÛÛé. 14 

    …¬ÛÈÛÛ 

 (…) Ü³ù¾ÛÛ•Ûâ ÜÈÛ˜ÛÁõ¨Û ¸Ûè¬¬ÛïõÁõ¨Û¶Ûà ¾ÛýÛÛÙþùÛ…Ûé ›÷̈ ÛÛÈÛÛé. 7 

 (¼Û) F-ïõÍÛÛé¤øà …é¤øÅÛé ÉÛä× ? ©Ûé ïõˆ Áõà©Ûé ‘t’ ïõÍÛÛé¤øà¬Ûà ›ä÷þùà ¸Û¦éø ™öé ? 7 
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5. ¶Ûà˜Ûé …Û¸ÛéÅÛÛ ÈÛíéïõÜÅ¸Ûïõ ¸ÛóÊ¶ÛÛé¶ÛÛ ÍÛÛ˜ÛÛ ›÷ÈÛÛ¼Û ¸ÛÍÛ×þù ïõÁõà ©Ûé¶Ûà ºõî©Û (a, b, c, d) ©Û¾ÛÛÁõà Š«ÛÁõÈÛÐüà¾ÛÛ× 
ÅÛ”ÛÛé.    14 

 (1)  ›Ûé y = 
3

2 – 5x
 ÐüÛéýÛ ©ÛÛé 

dy

dx
 = ______. 

   (a) 
15

(2 – 5x)2  (b) 
15

(2 – 5x)
  

   (c) 
15

(5x – 2)2  (d) 
15

(5x – 2)
  

 

 (2)  ›Ûé y = log (2 + 3x + 4x
2) ÐüÛéýÛ©ÛÛé 

dy

dx
 = _____ 

   (a) 
(8x + 3)

(2 + 3x + 4x
2)

  (b) 
(8x + 3)

(2 + 3x)
  

   (c) 
(3 + 8x)

(2 + 3x + 4x
2)

  (d) Š¸ÛÁõ¾ÛÛ×¬Ûà ïõÛé̂  ¶ÛÜÐü 

 

 (3) ›Ûé ⌡
⌠
 

 
.

.





x

2 – 25

x + 5
 dx = ____ 

 

   (a) 
x

2

2
 – 5x + c (b) x – 5x + c 

   (c) 
x

3

3
 + 5x + c (d) 

x
2

2
 + 5x + c 

 

 (4)  ïõˆ ¸Û±ùÜ©Û¾ÛÛ× Áéõ¶¦ø ïõÛȩ́ ÛÛëÁéõÉÛ¶Û ¤éø¼ÛÅÛ¶ÛÛé Š¸ÛýÛÛé•Û ¬ÛÛýÛ ™öé ? 

   (a) ÍÛÁõÇ ýÛþù˜™ö Ü¶ÛþùÉÛÙ¶Û ¸Û±ùÜ©Û 

   (b) Í©ÛÜÁõ©Û ýÛþù˜™ö Ü¶ÛþùÉÛÙ¶Û ¸Û±ùÜ©Û 

   (c) Ü¶ÛýÛ©Û ÍÛ×¼Û×µÛ 

   (d) ÍÛÐüÍÛ×¼Û×µÛ 

 

 (5)  ÍÛÁéõÁõÛÉÛ ”Û˜ÛÙ ÈÛ’õ¶ÛÛé §øÛÇ = _________ 

   (a) 
1

x
 [AR – AC] (b) 

1

x
 [MC – MR] 

   (c) 
1

x
 [MC – AC] (d) 

1

x
 [AC – MC] 
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 (6)  ÜÈÛ˜ÛÁõ¨Û¶ÛÛ ÈÛ•ÛÛë¶ÛÛ ïäõÅÛ ÍÛÁõÈÛÛÇÛ¶Ûä× ÍÛæªÛ (SST)  ______  

  (a) ∑x
2 – 

(∑x)2

N
 (b) ∑x

2 – 
(∑x

2)

N
 

  (c) 
(∑x)2 – ∑x

2

 N
 (d) 

∑x
2 – ∑x

 N
 

 

 (7)  ÜÈÛ˜ÛÁõ¨Û _______ ¬Ûà ÍÈÛ©Û×ªÛ ™öé. 

  (a) ¾ÛÛ¸Û   

  (b) Š•Û¾ÛÝ¼Ûþäù¶ÛÛ ¸ÛÜÁõÈÛ©ÛÙ¶Û 

  (c) (a) …¶Ûé (b) ¼Û×¶Ûé  

  (d) Š¸ÛÁõ¾ÛÛ×¬Ûà ïõÛé̂  ¶ÛÝÐü 

 

 (8)  µÛÛÁõÛé ïéõ R = aQ – bQ2 ÐüÛéýÛ ©ÛÛé ÍÛÁéõÁõÛÉÛ …ÛÈÛïõ ______ ¬ÛÛýÛ. 

  (a) a – bQ (b) aQ – b 

  (c) Q – bQ (d) Š¸ÛÁõ¾ÛÛ×¬Ûà ïõÛé̂  ¶ÛÜÐü 

 

 (9)  ⌡
⌠
 

 
.

.
5ex dx = _____ 

  (a) 5





1

x
   (b) ex 

  (c) 5ex  (d) Š¸ÛÁõ¾ÛÛ×¬Ûà ïõÛé̂  ¶ÛÝÐü 

 

 (10)  ⌡
⌠
 

 
.

.
tan x dx = _____ 

  (a) – log cos x (b) – cos x 

  (c) sin x  (d) Š¸ÛÁõ¾ÛÛ×¬Ûà ïõÛé̂  ¶ÛÝÐü 

 

 (11)  ›Ûé u = 20x – 2x
2, ©ÛÛé 

du

dx
 = _____ 

  (a) 20 – 2x
3 (b) 20 – 4x 

  (c) 20x
2 – 2 (d) 20x – 4x 
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 (12)  ‘Statistical Regularity’ ¶ÛÛé ÜÍÛ±ùÛ×©Û ________ ¾ÛÛ× Š¸ÛýÛÛé•Û ¬ÛÛýÛ ™öé. 

  (a) Ü¶ÛýÛ©Û ÍÛ×¼Û×µÛ (b) ÍÛÐüÍÛ×¼Û×µÛ 

  (c) Ü¶ÛþùÉÛÙ¶Û (d) Š¸ÛÁõ¾ÛÛ×¬Ûà ïõÛé̂  ¶ÛÝÐü 

 

 (13)  Ü¶ÛþùÉÛÙ¶Û¾ÛÛ× ýÛþù˜™ö ¸Û±ùÜ©Û¾ÛÛ× ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛä× ¤éø¼ÛÅÛ ¶Û¬Ûà ? 

  (a) ¤øà¸Ûé¤ø  (b) ÜºõÉÛÁõ 

  (c) ïéõ¶¦øÅÛ  (d) ¾ÛÛÉÛÙÅÛ 

 

 (14)  Ü¶ÛþùÉÛÙ¶Û¾ÛÛ× ”ÛÛé¤øà ¸ÛÍÛ×þù•Ûà¶Ûà Áõà©Û _______ 

  (a) biased Ü¶ÛþùÉÛÙ¶Û ½ÛæÅÛ (b) unbiased 

  (c) Ü¶ÛþùÉÛÙ¶Û¶Ûà ½ÛæÅÛ ¶ÛÜÐü (d) Š¸ÛÁõ¾ÛÛ×¬Ûà ïõÛé̂  ¶ÛÝÐü 
__________ 
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1. What is Research ? What are the different types of Research ? Explain. 14 

                   OR 

 Explain the various techniques of sampling with the meaning of it.  

 

2. Explain the rules of differentiation with examples. 14 

    OR 

 (a) If marginal cost function is MC = 100 – 10 x + 
x

2

10
 , obtain total cost and average 

cost if fixed cost is ` 500. 

 (b) If Q = 10P–1 is a demand function, where Q = demand and P = price, find out the 

elasticity of demand when price P = 10. 

 

3. (a) State the characteristics and uses of ‘t’ distribution. 7 

 (b) Write a note on one tail and two tail test. 7 

    OR 

 (a) Chi-square test and F test : their usefulness and characteristics. 

 (b) Explain type I and type II errors. 

 

4. What is analysis of variance ? Explain the two-way and three-way analysis of variance 

in detail.   14 

    OR 

 (a) State the limitations of two-way analysis of variance. 

 (b) What is ‘F’-test ? How is it different from ‘t’ test. 
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5. For each of following questions, choose the best answer and write only its number         

(a, b, c, d) in your answer book. 14 

 (1)  If y = 
3

2 – 5x

, then 
dy

dx
 = ______. 

   (a) 
15

(2 – 5x)2  (b) 
15

(2 – 5x)
  

   (c) 
15

(5x – 2)2  (d) 
15

(5x – 2)
  

 

 (2)  If y = log (2 + 3x + 4x
2), then 

dy

dx
 = _____. 

   (a) 
(8x + 3)

(2 + 3x + 4x
2)

  (b) 
(8x + 3)

(2 + 3x)
  

   (c) 
(3 + 8x)

(2 + 3x + 4x
2)

  (d) None of the above 

 

 (3)  ⌡
⌠
 

 
.

.





x

2 – 25

x + 5
 dx = ____. 

 

   (a) 
x

2

2
 – 5x + c (b) x – 5x + c 

   (c) 
x

3

3
 + 5x + c (d) 

x
2

2
 + 5x + c 

 

 (4)  In which method the Rend Corporation table is uses ? 

   (a) Simple random sampling method 

   (b) Stratified random sampling method 

   (c) Regression 

   (d) Correlation 

 

 (5)  The slope of average cost is 

   (a) 
1

x
 (AR – AC) (b) 

1

x
 (MC – MR) 

   (c) 
1

x
 (MC – AC) (d) 

1

x
 (AC – MC) 
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 (6)  The formula of sum of the square of total group (SST) is ____. 

  (a) ∑x
2 – 

(∑x)2

N
 (b) ∑x

2 – 
(∑x

2)

N
 

  (c) 
(∑x)2 – ∑x

2

 N
 (d) 

∑x
2 – ∑x

 N
 

 

 (7)  The variance is independent from _____. 

  (a) scale   

  (b) transformation of origin 

  (c) both (a) and (b)  

  (d) None of the above 

 

 (8)  If R = aQ – bQ2 is a reference function, then average function is ______. 

  (a) a – bQ (b) aQ – b 

  (c) Q – bQ (d) None of the above 

 

 (9)  ⌡
⌠
 

 
.

.
5ex dx = _____. 

  (a) 5





1

x
   (b) ex 

  (c) 5ex  (d) None of the above 

 

 (10)  ⌡
⌠
 

 
.

.
tan x dx = _____. 

  (a) – log cos x (b) – cos x 

  (c) sin x  (d) None of the above 

 

 (11)  If u = 20x – 2x
2, then 

du

dx
 = _____. 

  (a) 20 – 2x
3 (b) 20 – 4x 

  (c) 20x
2 – 2 (d) 20x – 4x 
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 (12)  Principles of ‘Statistical Regularity’ is applied in 

  (a) Regression (b) Correlation 

  (c) Sampling (d) None of the above 

 

 (13)  Which one from the following is not tables for Random numbers in sampling ? 

  (a) Tippetts (b) Fisher 

  (c) Kendall (d) Marshall 

 

 (14)  Faulty process of selection in sampling is a 

  (a) biased sampling error (b) unbiased 

  (c) non-sampling error (d) None of the above 

________ 


